SUBUEEE  Cambridge Assessment International Education
WIEGEGIEN  Cambridge International Advanced Level

A Level

CHINESE 9715/21
Paper 2 Reading and Writing October/November 2017
MARK SCHEME

Maximum Mark: 70

Published

This mark scheme is published as an aid to teachers and candidates, to indicate the requirements of the
examination. It shows the basis on which Examiners were instructed to award marks. It does not indicate the
details of the discussions that took place at an Examiners’ meeting before marking began, which would have
considered the acceptability of alternative answers.

Mark schemes should be read in conjunction with the question paper and the Principal Examiner Report for
Teachers.

Cambridge International will not enter into discussions about these mark schemes.
Cambridge International is publishing the mark schemes for the October/November 2017 series for most

Cambridge IGCSE®, Cambridge International A and AS Level components and some Cambridge O Level
components.

® IGCSE is a registered trademark.

This document consists of 18 printed pages.

Cambridge Assessment
© UCLES 2017 # [International Education [Turn over



9715/21 Cambridge International A Level — Mark Scheme October/November
PUBLISHED 2017

General Marking Principles

Please note that it is not possible to list all acceptable alternatives in the Detailed Mark Scheme provided on the following pages. You will need to
consider all alternative answers and unexpected approaches in candidates’ scripts, make a decision on whether they communicate the required
elements, in consultation with your Team Leader if necessary, and award marks accordingly.

Crossing out:
(a) If a candidate changes his/her mind over an answer and crosses out an attempt, award a mark if the final attempt is correct.

(b) If a candidate crosses out an answer to a whole question but makes no second attempt at it, mark the crossed out work.

Annotation used in marking:

(a) BOD = Benefit of the Doubt and is used to indicate material considered by the Examiner and judged to be more correct than incorrect: the
benefit of the doubt is given to the candidate and the mark is awarded.

(b) NBOD = No Benefit of the Doubt and is used to indicate material considered by the Examiner and judged to be more incorrect than
correct: the benefit of the doubt is not given to the candidate and the mark is not awarded.

(c) caret = to indicate where something which is key to the response is missing.

No response and ‘0’ marks

Award NR (No Response):

» If there is nothing written at all in the answer space or

« If there is only a comment which does not in any way relate to the question being asked (e.g. ‘can’t do’ or ‘don’t know’) or
» Ifthere is only a mark which isn’t an attempt at the question (e.g. a dash, a question mark).

Award 0:
« If there is any attempt that earns no credit. This could, for example, include the candidate copying all or some of the question, or any
working that does not earn any marks, whether crossed out or not.
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Question Answer Marks Not Allowed Responses

Question 1
Minor character errors in transcription (missing or additional strokes) are tolerated provided that the meaning is clear and that a different character
is not created. Accept minor omissions in the body of the phrase.

1a) | &m 1
1(b) | 4 1
1(c) | %5 1
1d) | A2 1
1(e) L 3, 1
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Question Answer Marks Not Allowed Responses

Question 2
Candidates either get full marks for each question or zero. No partial marks are awarded.

The following are examples of the way in which the answers could be expressed. Answers should retain the same meaning and contain all the
necessary elements of the phrase to (retain the original meaning) be reworked.

2(a) CIFGAMGZ 7, () IEAAKRE R 1| ™Me EFAMEE T, @ H () iIEANRE R,
o (o
2(b) (f) F e TAE = AW)E S R T LGB T3R5 R R, 2
2(c) RFR T ALK (UASR) |, LA — A AR, 2 | GRFE T MU LK, TR AR AR,
RBFIAALE T ALK, L 22— LIRS,
AR T ALK, LR R —F LRI,
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Question Answer Marks Not Allowed Responses

Question 3

Lifting = a whole sentence taken from the text will usually invalidate an answer unless further original explanation is offered. The definition of a
whole sentence is a complete unit of meaning which could be from a full stop to a semicolon or from a full stop to a full stop.

If (and only if) all the words in the reject column appear in the answer unchanged, reject as a ‘lift’. Annotate this using the LM stamp (Lifted

Material).

It is not uncommon for candidates to ‘lift' and then go on to rephrase acceptably, in which case indicate the lift using LM stamp but reward the

rephrase.
3(a) BHFBAFERA 2887 FHFH= K, 3
F G AN E )] /iEAANRE RAG 1 FRIR IR 7
WIE 1 The long lift should be rejected:
PR/ R SRR 1 [CTUEGAMNGLT, EANKERAG. ]
[ 8 HFAFT T fo T Z A QR LT GBI RTRE
?if«ﬂéi%‘%ﬂﬂ WFAANET RIS, AmEERE, ]
3(b) BRI B A B 5] R A AR ? 3
T ZAKT 1 The long lift should be rejected:
i 1 (&, #5EE—EOK, ®ARHLEESH. ]
gt 2 ERREGERLL 1 R Rl 4ot B 3%, P AHTARLER R HF
o ]
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3(c) AN 2FAL LR A7 3
% A% 1 BRAT AL R HESEAL /AR R
FATRRHT A F4, (CHS) 1 The long lift should be rejected:
BRINK 1 [§75 2 52N A R A RAFET B, F BARAT AR5 HE— 0 5 3
E, ]
[(FUHAARXKREFTELELTREMA, ABHRER
HRA . ]
3(d) FKRE R xt IR H 5 o R B A AR ? 3
(5 —4) AA R RRS/ xR EADIIL 1 R/ RS
T ik it Jo, 7R G- 3K 84 TR A 1 T— % B 5 R AT 89 AR A IR A
—H =&/t 1 The long lift should be rejected:
[REHRZARINA, Wty F kR IR HE D — JARA
&, 2aCERGFEELRADL WIE;]
(R ¥ AR KL Ao BT G RIAE AR AT R, 24 Rk E #; ]
[E— B =RAHFHLHETT, ZAEHF. ]
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Question Answer Marks Not Allowed Responses
3(e) HE I L RIS A E R IAERILT & ? 3
A RS 1 B R — R BT AT B e A
T RS R A 1 The long lift should be rejected:
ia | % s ey LSk 5 1 [ EMBIZEE LIABA, RBMEIN GG, e
B, EBH ARG —EBTHEN ERERIT. ]
(A, RITATZ TR B GG REAFTALEZN, ]
[Bel, 2B S Hay— Al NiE LT AL A T L eR&E, ik
GRAF R R ]
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Quality of Language — Accuracy

5 Very good

Consistently accurate. Only very few errors of minor significance. Accurate use of more complex structures (verb forms, tenses, prepositions,
word order).

4 Good

Higher incidence of error than above, but clearly has a sound grasp of the grammatical elements in spite of lapses. Some capacity to use
accurately more complex structures.

3 Sound

Fair level of accuracy. Common tenses and regular verbs mostly correctly formed. Some problems in forming correct agreement of adjectives.
Difficulty with irregular verbs, use of prepositions.

2 Below average
Persistent errors in tense and verb forms. Prepositions frequently incorrect. Recurrent errors in agreement of adjectives.

0-1 Poor
Little or no evidence of grammatical awareness. Most constructions incomplete or incorrect. Consistent and repeated error.
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Additional marking guidance for Quality of Language
The five marks available for Quality of Language are awarded globally for the whole performance on each set of answers.

A concise answer, containing all mark-bearing components for Content is scored on the full range of marks for language, i.e. length does not
determine the Quality of Language mark.

Answers scoring 0 for Content cannot contribute to the overall Quality of Language mark.

Identify the answer(s) scoring O for Content in the whole set of answers. Then add together the number of Content marks available for each of
these questions and reduce the Quality of Language mark according to the following table:

Total Content marks available on
questions Reduce Quality of Language mark by:
where a candidate scores 0

2-3
4-5
6-7

8-14

15

A |W[IN|=-

Note: A minimum of one mark for Quality of Language should be awarded if there are any Content marks at all (i.e. 0 Quality of Language marks
only if 0 Content marks).
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Question Answer Marks Not Allowed Responses
Question 4
Mark as Question 3
4(a) A A & EREF R A RF R A Y? 2
(B %akins b 2 R EIAZF) BT FHRE P A 1 The long lift should be rejected:
(Af18Y) AR ZIRA T ER 1 [iﬁéz‘ﬁﬁ#ﬂkxﬁ’z&%%zﬁiﬁﬂki%iﬁiUF' h FLIR % 19) AL &G H
AT, ]
(AARY) A X FRGE 1 [Em%%Fﬁ MAEAMNFRERAASTIRG TR, £5
R AT e 7 R R AT e K ALY ]
Any 2 of 3
4(b) FBEWR “RERT” A 2487 3
(R) Rt “AnE 7 £ 1 “ERAE TR PR R
B AL Rl — R AR 1 The long lift should be rejected:
FAT R, KR 1 [£ “v” b, A&RFLRS BE “FEEITT” 940
%, PRME “ANE” 5, BLER—KBEEL, ]
[Bel, 2RI R BIRAIT RO —KEA, “4 @%i/?” FAT
BRI, ]
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Question Answer Marks Not Allowed Responses
4(c) A& AR B4R R R T KR 5 7 4
FR 1 ALah 38 T B N A SRk X 1 BHiTE/ B E
®RAGAEL AT R 1 The long lift should be rejected:
SR RE 4T 1 [ 58 @, A AR R s 58 T A3 N AR R
‘ ) HRFR, RIEGALAEBIE, FRBFERETIT, VA
ARG T mostarasmEE. ]
[E—®ASFK, BELTARFTLHEA T EEHT X, K
PRaP T 3B, X3 T RF R
A2, ]
4(d) FBMEANESKBBRAT 2L HEELR? 3
E A MR AF T 1 JR A hAE A AR i
RNy 1 The long lift should be rejected:
ah AR i 1 [ 3R T St B AR S 2 Bk, ]
(X e By S dk 308 AR, A4t 4
7, BAMETK, 12R¢ 02 RAGTIAE, ]
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Question Answer Marks Not Allowed Responses
4(e) HEEIZEREY LS 3
NIRRT 1 The long lift should be rejected:
& REF AN 1 [ FERB KR, RTHRT£ER, LE2EEPES T,
M REL V53538 . ]
REEFRBREF 1
[ ALFROFALANDTEREECLE, BEARTARERY
e ]
[ R —F— AR TRKARY, TEMFEM. ]
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Quality of Language — Accuracy

5 Very good

Consistently accurate. Only very few errors of minor significance. Accurate use of more complex structures (verb forms, tenses, prepositions,
word order).

4 Good

Higher incidence of error than above, but clearly has a sound grasp of the grammatical elements in spite of lapses. Some capacity to use
accurately more complex structures.

3 Sound

Fair level of accuracy. Common tenses and regular verbs mostly correctly formed. Some problems in forming correct agreement of adjectives.
Difficulty with irregular verbs, use of prepositions.

2 Below average
Persistent errors in tense and verb forms. Prepositions frequently incorrect. Recurrent errors in agreement of adjectives.

0-1 Poor
Little or no evidence of grammatical awareness. Most constructions incomplete or incorrect. Consistent and repeated error.
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Additional marking guidance for Quality of Language
The five marks available for Quality of Language are awarded globally for the whole performance on each set of answers.

A concise answer, containing all mark-bearing components for Content is scored on the full range of marks for language, i.e. length does not
determine the Quality of Language mark.

Answers scoring 0 for Content cannot contribute to the overall Quality of Language mark.

Identify the answer(s) scoring O for Content in the whole set of answers. Then add together the number of Content marks available for each of
these questions and reduce the Quality of Language mark according to the following table:

Total Content marks available on
questions Reduce Quality of Language mark by:
where a candidate scores 0

2-3
4-5
6-7

8-14

15

A |W[IN|=-

Note: A minimum of one mark for Quality of Language should be awarded if there are any Content marks at all (i.e. 0 Quality of Language marks
only if 0 Content marks).
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Question 5
Length of 5(a) + 5(b) (Summary and Personal Response)

Writing within the character limit is part of the task, and candidates who remain within the limit (200 characters in total) deserve credit.
Insert the vertical wavy line after the 240th character to show the end of the response to be marked.

Question Answer Marks Not Allowed Responses

Content marks — Summary

Indicate with a tick in the body of the text the point being rewarded. Do not penalise ‘lifting’ for content marks in this exercise, but excessive reliance
on the text will reduce the language mark.

The summary could include the following points (award 1 mark for each point covered up to a maximum of 10 points):

5(a) ¥ LT ATRAE, EFHAEALL 200 ANF, 10
(a) A4 —Fsa L a2, MIRFFAG I BLME Fa 2R 6k A % 3R AKX AR
o
R A BL

1) EAAVKRIE RS (L) /EEANAALT
2) @i AR R EE )
3) B AGAZ G RHE/ 4% 5 AL RAE
4) TRALEZTIAAR
5) T AFF LK
6) L xayin Bl AT Lk aRar BB AR
7) TTRAK B A KRG oo
Rk
8) BITRME “RNE” RS/ HELEGERITHE

9) ERALH —RMRE
10) SRAT 2 M K AL 32
11) RIS 38 T A gt N A &5 aRi5 X
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Question Answer Marks Not Allowed Responses

12) A3 4% A . /) 338 T A

13) (FKX) sBMFEERE I/ BERESH
14) e 35 B 4E A £ %338 75 A

15) 7Bl HeEL 5 3531

16) RE"B % X495 4 34

1) A B FRBFROGLE
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Question Answer Marks Not Allowed Responses

Content marks — Response to the Text

Mark like a mini-essay according to the variety and interest of the opinions and views expressed, the response to the original text stimulus and the
ability to express a personal point of view. Further, more detailed guidance for particular questions will be given to examiners.

5(b) WRRARIT X T @y T . RIafe g ik, 5

5 Very good
Varied and interesting ideas, showing an element of flair
and imagination, a capacity to express a personal point
of view.

4 Good
Not the flair and imagination of the best candidates, but
work still shows an ability to express a range of ideas,
maintain interest and respond to the issues raised.

3 Sound
A fair level of interest and ideas. May concentrate on a
single issue, but there is still a response to ideas in the
text.

2 Below average
Limited range of ideas; rather humdrum. May disregard
the element of response to the text, and write a largely
unrelated free-composition.

0-1 Poor
Few ideas to offer on the theme. Banal and pedestrian.
No element of personal response to the text. Repeated
error.
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Quality of Language — Accuracy

5 Very good

Consistently accurate. Only very few errors of minor significance. Accurate use of more complex structures (verb forms, tenses, prepositions,
word order).

4 Good

Higher incidence of error than above, but clearly has a sound grasp of the grammatical elements in spite of lapses. Some capacity to use
accurately more complex structures.

3 Sound

Fair level of accuracy. Common tenses and regular verbs mostly correctly formed. Some problems in forming correct agreement of adjectives.
Difficulty with irregular verbs, use of prepositions.

2 Below average
Persistent errors in tense and verb forms. Prepositions frequently incorrect. Recurrent errors in agreement of adjectives.

0-1 Poor
Little or no evidence of grammatical awareness. Most constructions incomplete or incorrect. Consistent and repeated error.
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